C:# Passende Linien

Name:
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
— —>
1) AC pardlel to EB )
2) BA intersecting AD
2
3) Acute «.BED
3.
4) AD intersecting BC at point E
5 BE intersecting CD 4.
6) AC intersected by BD 5,
7) «BAC creating an obtuse angle ]
8) BC intersecting ~ACD
7.
9 AB intersecting AD
8.
10) Acute /ABC intersecting AD
11) ,DEC intersected by AC S
12) AC perpendicular to AD 10.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) —> —>
AC pardle to EB N F
2) BA intersecting AD
.. E
3) Acute «.BED
5B s s _C
4) AD intersecting BC at point E
5 BE intersecting CD 4 _A
6) AC intersected by BD 5 J
7) «BAC creating an obtuse angle . D
8) BC intersecting ~ACD B
7
9 AB intersecting AD
«— 8. I
10) Acute ~/ABC intersecting AD
K
11) /DEC intersected by AC .
12) AC perpendicular to AD 0 G
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Passende Linien Name:
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) Right ~ADE .
2) D asthe midpoint of CE
2
3) Acute «.BED
> . 3.
4) AB intersecting AD
5) Acute .BDE 4.
6) AD intersecting BC at point E 5,
+“— “—>
7) AB paralel to CD 6
8) AB intersecting ~.BCD at point B
7.
9 AC perpendicular to AD
8.
10) AE intersecting DB
11) BD intersecting ~ACE %
12) BA intersecting AD 10.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
N R
) Right ZADE . L
2) D asthe midpoint of CE
2. G
3) Acute «.BED
4) AB intersecting AD
5) Acute .BDE 4. |
6) AD intersecting BC at point E 5 D
7) +“— “—>
AB parallel to CD 6. E
8) AB intersecting ~.BCD at point B =
7
9 AC perpendicular to AD
10) AE intersecting DB
B
11) BD intersecting ~ACE %
12) BA intersecting AD 0. K
[ .
A. B C. D. u_ C
L [ 3 L
“Ta S s 1"
\ 2. H
B & D IP | T on D E
E. F G. H.
L L3
“T1a 3 & N A B
B
“Ic 5> T B E “<T—1°
v v
l. J K. L.
A A B c A“ 3 B
< Y B > < > A ¢
< e ) > C
D E
«—o—19 < > D¢
¢ VD \ EV v E
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 2 111121 8] 0




C:# Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) AB intersecting AD )
2) Acute «.BED

2
3) BE intersecting CD
3

4) «BAC creating an obtuse angle
5 D asthe midpoint of CE 4.
6) BC intersecting ZACD 5,
7) AC intersected by BD 6
8) AC perpendicular to AD

7.

9) AB intersecting ~.BCD at point B

8.

10) AC parald to EB
11) ,DEC intersected by AC .
12) Acute ~ABC intersecting AD 10.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1 «— . i «—
) AB intersecting AD . C
2) Acute «.BED
2 J
3) BE intersecting CD
3. A
4) «BAC creating an obtuse angle
5 D asthe midpoint of CE 4 H
6) BC intersecting ZACD 5, B
7) AC intersected by BD 6. |
8) AC perpendicular to AD E
7
9 AB intersecting ~.BCD at point B
_ _, s K
10) AC paralld to EB
D
11) /DEC intersected by AC o
12) Acute ~ABC intersecting AD 0. G
[ g
A. B. C. D. L
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Passende Linien Name:
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
+“—> “—>
1) AB paallel to CD )
2) BA intersecting AD
2,
3) BC intersecting ~ACD
3
4) AB intersecting AD
5) Acute «BED 4.
6) BE intersecting CD 5.
7) Right ~ADE 3
8) «BAC creating an obtuse angle
7.
9 AC pardle to EB
__ 8.
10) AC intersected by BD
11) D asthe midpoint of CE S
12) ,DEC intersected by AC 10.
[ g
A. B. D. 11.
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A B 12.
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Ch Passende Linien Name: L Osungsschltssel

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) +“—> “—>
AB parallel to CD N G
2) BA intersecting AD
2. D
3) BC intersecting ~ACD
4) AB intersecting AD
5) Acute «BED 4. K
6) BE intersecting CD s. E
7) Right ~ADE A |
8) «BAC creating an obtuse angle ]
7
— —>
9 AC paalld toEB
«—> [ 8 C
10) AC intersected by BD
B
11) D asthe midpoint of CE S
12) ,DEC intersected by AC 0. L
[ g
A. B. C. D. u _ F
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Ch Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) «BAC creating an obtuse angle )
2) AB intersecting AD

2

3) Right ZADE

= . . 3.

4) BA intersecting AD
5 AD intersecting BC at point E 4
6) BD intersecting CE 5.

—> —>
7) AC parale to EB 6
+“— “—>

8) AB paralel to CD

7.

9 BC intersecting ~ACD

8.

10) AC perpendicular to AD

11) Acute ~BDE >
«—> . —

12) AC intersected by BD 10.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) «BAC creating an obtuse angle ) =
2) AB intersecting AD
> H
3) Right ZADE
—> «—> 3. I
4) BA intersecting AD
5 AD intersecting BC at point E 4 L
6) BD intersecting CE 5. A
7) —> —>
AC parallel to EB 6. G
+“— “—>
8) AB paralel to CD
7 E
9 BC intersecting ~ACD
g K
+“—> . “—
10) AC perpendicular to AD
11) Acute .BDE 9. B
12) AC intersected by BD 0. D
[ g
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Passende Linien Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) BC intersecting ~ACD 1
2) Right ZADE

2.
3) AC pasald to EB
4) AB paralel to CD
5 AE intersecting DB 4
6) AD intersecting BC at point E 5,
7) AC intersected by BD 6
8) Acute /ABC intersecting AD

7.
9 BD intersecting ~ACE

8.

10) D asthe midpoint of CE

11) AC perpendicular to AD .

12) BE intersecting €D 10.
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Ch Passende Linien Name: L Osungsschltssel

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
+“— . .
1) BC intersecting ZACD L H
2) Right ZADE
2. G
3) AC pasald to EB
«—> «—> 3. L
4) AB paralel to CD
5 AE intersecting DB 4. _A
6) AD intersecting BC at point E 5, L
7) AC intersected by BD 6 |
8) Acute /ABC intersecting AD -
7.
9 BD intersecting ~ACE
10) D asthe midpoint of CE
D
11) AC perpendicular to AD S
12) BE intersecting €D 10 J
[ .
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C:# Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) BD intersecting ZACE )
2) AB intersecting AD

2
3) BC intersecting ~ACD
«—> 3.

4) AB intersecting «BCD at point B
5 AB pardle to CD 4
6) Acute «.BED 5.
7) Right ZADE 5
8) BA intersecting AD

7.
9) «BAC creating an obtuse angle
8.

10) Acute «BDE
11) BD intersecting CE .
12) AC intersected by BD 10.
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Ch Passende Linien Name: L Osungsschltssel

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
+“— . .
1) BD intersecting ~ACE L B
2) AB intersecting AD
2. K
3) BC intersecting ~ACD
— 3. H
4) AB intersecting «BCD at point B
5 AB pardle to CD 4 D
6) Acute ,BED 5. L_
7) Right ~ADE . G
8) BA intersecting AD |
7.
9) «BAC creating an obtuse angle
8 C
10) Acute «BDE
— J
11) BD intersecting CE o
12) AC intersected by BD 0. E
[ .
A. B. C. D. u _ F

B
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C:# Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) AD intersecting BC at point E )
2) AC padld to EB

2
3) D asthe midpoint of CE

«—> — 3.

4) AC intersected by BD
5 BE intersecting CD 4
6) BC intersecting ZACD 5,
7) «BAC creating an obtuse angle ]
8) Acute /ABC intersecting AD

7.
9 AB intersecting AD

8.

10) BA intersecting AD

11) AB pasdlel to CD >

12) Right ~ADE 10.

[ g
A B. C D. 11.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) AD intersecting BC at point E . K
2) AC padld to EB
2. A
3) D asthe midpoint of CE
«—> — 3. I
4) AC intersected by BD
5 BE intersecting CD 4 C
6) BC intersecting ZACD 5 J
7) «BAC creating an obtuse angle . F
8) Acute /ABC intersecting AD -
7.
9 AB intersecting AD
10) BA intersecting AD
L
11) AB pardle to CD o
12) Right ~ADE 0. G
[ g
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1 A A
PA Bl . A B A B “—r >
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C:# Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) D asthe midpoint of CE L
2) AE intersecting DB

2
3) AD intersecting BC at point E

3.
4) Acute «BDE
5) «BAC creating an obtuse angle 4.
6) Right ~ADE 5,
7) BC intersecting ~ACD 6
8) AC intersected by BD

7.
9 Acute LABC intersecting AD

8.

10) BB intersecting /ACE

11) AB pasdlel to CD >

12) ,DEC intersected by AC 10.
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Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) D asthe midpoint of CE L F
2) AE intersecting DB
2. B
3) AD intersecting BC at point E
3 K
4) Acute «BDE
5) «BAC creating an obtuse angle 4. A
6) Right ~ADE 5, |
7) BC intersecting £ACD e G
8) AC intersected by BD
7 C
9 Acute LABC intersecting AD
10) BD intersecting ~ACE
H
11) AB pasdlel to CD >
12) ,DEC intersected by AC 0. L
[ .
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8 c| D
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Ch Passende Linien

Name:

Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) AB intersecting ~BCD at point B L
2) AC padld to EB

2.
3) AB pardle to CD

3.
4) Acute «.BED
5 AC intersected by BD 4
6) Right ~ADE .

. . “—

7) Acute ~ABC intersecting AD 6
8) BD intersecting ~ACE

7.
9 AC perpendicular to AD

8.

10) ,DEC intersected by AC
11) BA intersecting AD .
12) AE intersecting DB 10.
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F < E: b Ds
v D\ v E
E F. G H.
L L3 L A“
“T1A S “T1a 3
“B c[ o
“ Bl “Ic 5> B G D E
v v v v
I J K. L.
) A 81 . A B c. A“ ) A
N - - - : - A B
C D s —e>
D E
< > < D
E \ D" ¢ v
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 10 11-12{ 8| 0




Ch Passende Linien

Name: L Osungsschlissel
Ordne die Beschreibung oben dem visuellen Bild unten zu. Antworten
1) AB intersecting ~BCD at point B ) G
2) AC padld to EB |
2.
3) AB pardle to CD
3 F
4) Acute «.BED
5 AC intersected by BD 4 J
6) Right ~ADE 5.  C
. . “—
7) Acute ZABC intersecting AD s D
8) BD intersecting ~ACE K
7
9 AC perpendicular to AD
«—> 8. B
10) /DEC intersected by AC
E
11) BA intersecting AD o
12) AE intersecting DB 0. A
[ .
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“B c[ o
“To Bl “Ic 5> B G D E
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